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EE W 2 LAY ASFIFD = [ (2121.80 +127.31) —452.80] x (A/P, i, n)
=1796.31 x6% x (1 +6%)* +[ (1 +6%)* -1]
=518.40 ( oT)

(2) BEEWE 2 FLELA MR E =1796.31 x6% =107.78 ( L)

(3) IBEWE 2 FLLEMA 4 =518.40 —107. 78 =410.62 ( JTIT)

(4) BEWS 2 FMEGTETE.

1) A =280 +353.57 +0 +107.78 =741.35 ( L)

2) FEAE =900 x (1 -6% ) — 741.35 =104.65 ( FiT)

3) FifEHE =104.65 x25% =19. 14 ( FIT)

4) KA EGES =104. 65 +107. 78 +353.57 - 19. 14 =546.86 ( /i JT)

ZE WA 2 IR & (] % =546.86 +518.40 = 1. 05

MBS 2 FMEGEMERT 1, Hitt, WEELfEEK.
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#1.2.2 HREEUERBRMK (§fi: HIK)
. PHR
5 5o H &t
1 2 3 12

1 g A

1.1 HYA 720
1.2 [l i [ 5 2 7= A

1.3 o148 iAE 2 W 4

l=4 HAbBE i A

2 B4 i
2.1 9 A 250
2.2 AR S0 (R EERFR) 325.5
2.3 fEAHLE AT (i izie k) 127.3
2.4 2B A 224
2.5 El e KB i 43.2
2.6 i {88 0
2.7 Hefpiz EHE
2.8 HoAth B4 i

3 Vi B4 i A -250
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(1) WUH TSN 2000 7T, TRERHAM %A 500 ot (AR 5™ 8N
200 JioC) , HEATR R ER N 8% , Wit A 3 FHFEIHLTE MM TR 5% .

(2) wi HABRATERD | F, RN 2 4, EaE il 8 4,

(3) T H @ 1 AESE R0 H R SRR 40% | 55 2 A SE ALY 60% , T H
PEEE W 1 AFBARBh BT 4 240 J7oC.

(4) HHM BT iR SR RA A

(5) BR T EIEH - HIZ A0, W0 H @80T a0 s 2 5, R - &L= ia g
WX pes, R BT AR IR O 8 4F, BRIER N 5% , KRAHEZKIENIH.

(6) I H IEH 40y 097 dh B A2 7 E J1 4 10000 fF/4F,  IE 4 00 4F B AR AR 2% I Ol 950
Jioe, Herhaot B SR i a] 28 sUAS Ry 550 g, AR [E E AR T E R B R
1400 JT/ 1, EbBLa KIBEAR R 6% , Al I BB R 25% .

(7) THAPzE WS R4 RE ) 8 EHF 0T - RE T # 70% , 55 2 4F R LA
& &4 9 4 7 RE 1R B B A P EE A9 100%

(&)

Lo 2B St H O B es | 4 5 2 AR AN 22 T S AN H AR T .

2. G5B G REI H A= iz U AR ] BT 4 TH R LE R AF O 89 4F AT 28 AR [ E

3. ARG H R A7 IE 8 W I RO i BT A BT H BT A v Al R

4. s AR H OEH AR 0 R P

(BRGEA G Z 50, i 3 RIS RLE R LA T AL, i 8 0T RAE R
Bk, oAb EA R ORE W AL/NVED
[Eaf@ix]

(B 1] SR 2ETa 2% LA SRS 5T . X A () SUZ 000 H ST A BE ARG . 22
Bl et R E A . P=SLL (1 +N"(1L+N (1 +NH7" 1], Hik, XMEHAR
B IR A AR AR # ST, PIRIE A UER A S BOR A K

deAh, WS = TR + TRERI M + A& %

AT = (LR + TREBSUUA) x A& 7K

A ALY = TR + TR + i o

(iE)RE 2] SRAF[ENE BT I IHRLE # R0 i 4F nT AR A | 88 AR . 2B AR .

1A = FEE R PR x (1 - 5RE5) + WIHFER, 7EX—DEEPEEN]—EZER,
AN R TR A 9% F b A 200 TR R 17 IR W =, TR e o O T W TR (B A
R fo 7 5 P [ 7 9 7 £ 90 2 200 JT T

SRR A = B AL AR AR x AEFERE T s AR R E AR = BUNAS - A TR A

MAELE RA NS AR T g% A, ELUMENEED, FnErARenaE
A PriH, JER . FIBERMF, KMEMA. BlA =2EMA + #T1H + #H + FIR.

miX R H S, SREEMRA, Fit: FLERA = BlA -0 - - F8, EHS
BOA d B, R AN i B W L e BN AR A R, st 1Ei2 5 B
BRFEE. UL, fEXNEES, FLERA = B4 - IriH - #H.

(B3] SRIEH® & 6y 0 BT 3 BL AN H BEA S0 Al 2. 715 84 i 5K i aT DL fig B &



- 16 - Uk RS e R 2 b7

115, ZAAT— EARRPIZEIZ R s Z B R
PS8t = (R L8 - VRAMARTFEEE T8 x Frigfi s
Rl SET = E A - BB BRI - BA + A A
FEA G ERIEHR = WA + 5HiE
BH P R A SR EIE AR A RS RS, H, WA S = g% + Rish%
%
ol = A E S - AR,
(im@4] KA Vs, A5 FiamREaaufy, UreaRis, DHgik
AZIR, DAEREL, URAENHRE, SHEENRASERRE T VA,
B 5 VR A R RTE SE T 0,
AL x Q x (1 - RS RMmER) = EE A + 8070 A x Q
Q = [EEMA + [ HALEN x (1 - BEBLE RMHmE) - A0 28 aUA |
§ogiES ) -
(1] st B @ uiss | 4. 55 2 M 22 Wiss 2 oot H s v
P=3I[(1+N"(1+N**(1+)'"" -1]
AR = TRMA + LRSI MR + A& %
= (LR + TRAERHMBH) x (1 + BATFRE)
= (2000 +500) x (1 +8% )
=2700 ( /17C)
PF, =2700 x40% x [ (1 +5%)' x (1 +5% )" x (1 +5%)'™' -=1] =82.00 ( ijt)
PF, =2700 x60% x[ (1+5%)' x(1+5%)"°x(1+5%)*"' -=1] =210.16 ( H7T)
M2 =82 +210. 16 =292. 16 ( FFIT)
Tl 9% = BA TR T + h Z & 2%
=200 +292. 16
=492.16 (JiiL)
IR = TR+ TRSRHMTRA « B
=2000 +500 +492. 16
=2992.16 (/i oT)
(@@ 2] HFIGHETE A =2 5 004 B @ 9= 1B FIE 5 45 0y 09 48 T 28 A |
[ 5 BAS LA B 278 AR
(1) TR EE % ™HrH
(#5797 JE(E = AR - IR v
=2992. 16 —200
=2792.16 (/ioG)
I8 = BEETE =R x (1 - 5R{EFR) « FTIHFR
=2792.16 x (1 -5% ) +8
=331.57 (/iot)
(2) WRIERFEOHMRTERA . BEBAUREERA
ER[ AR LA = BRI A] AR AR x A2 R RE )
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=550 x 10000
=550 (J778)
I E A = B — A AT AR A
=950 - 550
=400 (J378)
MR = T TE™ + MR AR IR
=200 +8
=25 (J170)

FLEWA = BRA - Pr1H - RER
=950 -331.57 -25
=593.43 (ot)
(im@@3] 40550 A3 H A =iz 8 E 5 4 0 i BT BRI H T4 4 e )i
(1) iRt
B = B E M x IEH E 0 AEGE D
= 1400 5T/ {4 x 10000 {4
=1400 /i JC
FE S8 = E YA - Bk B4 KBt - SaAS + #hssA
= 1400 - 1400 x6% -950 +0
=366 ( /17T)
P8t = CRIE S - R LARTAEBE 5 H1) x FrfS B %
= (366 -0) x25%
=91.50 ( oT)
(2) HHRERAEHFEE
VA = S - P
=366 -91. 50
=274.50 ( F7C)
TAE = EIRE + s e
=2992. 16 +240
=3232.16 ( Fiot)
GEA G AR = R + P44 x 100%
=274. 50 +3232. 16 x 100%
=8.49%
[im@ma)] 450502080 B IEwE w85 T,
PR T VA = BE AR - [ x (1 - S EBLE K MHmEE) - saf7a] 28 miA
=400 x 10000 + [ 1400 x (1 =6% ) —550 ]
=5222 (%)
[8£EX]
[ERE 1)
EAHEYE = (2000 +500) x (1 +8% ) =2700 ( JioT)



